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QUESTION 1

Place the following commands to upgrade a Steelhead appliance from the CLI in the correct order. (NotE. include only
the necessary steps) 1) SH (config) image install image.img 2 2) SH (config) image fetch http://server/path/image.img 3)
SH (config) boot system 2 4) SH (config) restart clean 5) SH (config) reload 6) SH (config) write memory
A.1,2,3,4,5,6

B.2,3,51,6

C.1,2,54

D.2,1,3,6,5

E.1,23,6,5

Correct Answer: D

QUESTION 2

When using Correct Addressing, without Enhanced Auto-discovery (EAD), what is the size of the probe response in the
return SYN/ACK packet from the server-side Steelhead appliance?

A. 4 bytes

B. 10 bytes
C. 14 bytes
D. 18 bytes
E. 32 bytes

Correct Answer: C

QUESTION 3

Which of the following custom TACACS+ attribute-value (AV) pairs gives the user administrative privileges?
A. local-user-name=superuser

B. local-user-name=admin

C. local-user-name=administrator

D. local-user-name=monitor

E. local-user-name=guest

Correct Answer: B
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QUESTION 4

Once a SteelHead is registered for Cloud (SaaS) optimization it contacts the Cloud portal every 5 minutes to receive the
latest information about the service. What would happen if a Firewall change stops the HTTPS communication with the
Portal?

A. The Cloud optimization stops working after 5 minutes

B. The Cloud optimization continues to work with the last information received from the Portal

C. The SteelHead will try HTTP (port 80) to contact the Portal once it sees no response using 443

D. The Cloud optimization Service cannot redirect traffic because DNS resolution is performed through Primary
interface

Correct Answer: D

QUESTION 5

In a serial cluster deployment of Interceptor appliances, which interfaces are connected from one Interceptor appliance
to another Interceptor appliance assuming they are connected back to back?

A. LANO_O to LANO_1
B. WANO_0 to WANO_0
C. WANO_0O to LANO_0
D. LANO_O to LANO_O

Correct Answer: C
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